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THE FIRST STEP TOWARDS
YOUR DEFENCE DREAM

MODEL TEST PAPER-002 FOR CIASS 12"

Duration :- 2.00 Hours Max Marks: - 400

» This test contains 100 questions. Each question comprises four responses (answers). You will select
the response which you want to mark on the Answer Sheet. In case, you feel that there is more than
one correct response, mark the response which you consider the best. In any case, choose ONLY ONE
response for each item.

All questions carry equal marks.
In this exam each question carries 4 marks for the right answer, no negative marking.
If a question is left blank i.e., no answer is given by the candidate, there will be no penalty for that

guestion.
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ENGLISH

Directions: Read the following passage carefully
and answer the questions given below it.
The extended confrontation  between
Mohammed Ali Jinnah (1876-1948) and
Mohandas Karamchand Gandhi (1869-1948)
was one of the great dramas of the twentieth
century. For nearly three decades these two
remarkable men were locked in series of
political battles that involved opposing views
of individuals, communities, states and
nations even the cosmos. The two had
contrasting styles of leadership, lifestyle and
presentation that reflected very different
attitudes towards political power, and to what
it can and cannot do. The stakes were high,
and the eventual outcome not only created
South Asia’s two principal nation states, but
also shaped their political and social
character, and has had a direct influence on
wider  geopolitical concerns, including
superpower relations, nuclear proliferation and
the development of international terrorism

. According to the passage, Gandhi and Jinnah
(a) were coherent in the their views
(b) were the individuals having contrasting
views
(c) were never in confrontation with each other
(d) moved together for three decades with
same ideas and approach

. Why were the stakes so high?
(a) Because both of them had to live up to the
expectations of their communities
(b) Because both of them were the head of
the two different political parties
(c) Because their acts were to create two big
nations
(d) All of the above

. Both Gandhi and Jinnah did not match in —
(a) attitudes towards political power
(b) their lifestyle
(c) style of leadership
(d) All of the above

4. Which of the following does not include wider
political concern?

(a) The style of leadership

(b) Nuclear Proliferation

(c) The development of international terrorism

(d) Super power relations

. Choose Antonym for the word —

Abscond
(a) Abridge
(c) Emerge

(b) Condemn
(d) Abolish

. ldentify the synonym of the given word.

ADMONISH
(a) Threaten (b) Praise
(c) Appeal (d) Support

. Choose the opposite words of:

Conceal
(a) Cover (b) Reveal
(c) Cancel (d) Reject

. Choose correct preposition for each blank:

Gandhiji went
(a) to (b) out
(c) on (d) at

. Choose the correct form of the verb to fill in

each blank:

She jumped off the bus while it

(a) moved (b) is moving
(c) was moving (d) had moved

. One who abstains from intoxicating drinks

(a) self disciplined
(c) dead drinker

(b) wine trader
(d) teetotalleer

11. Time and tide for none.

(@) will wait (b) wait
(c) waits (d) do not wait

. Choose the correct passive form :

Post this letter.

(a) This letter be posted by you.

(b) You should post this letter.

(c) Let this letter be posted.

(d) You are advised to post this letter.

. Choose one word :

Murder of a king.
(a) Massacre (b) Revolt
(c) Regicide (d) Patricide

14. Adjective of ‘Elephant’ is —

(a) Elephantic
(c) Elliptical

(b) Elephantine
(d) Elephantom
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15. ‘To face the music’ means —

(a) To face consequences

(b) To die while working

(c) To show the signs of cowardice
(d) To defeat one

i must ban immoral films.

(a) Censure
(c) Censer

(b) Censor
(d) Sincere

17. Choose the alternative of the idiom/phrase

which is in printed in bold as your answer:
His investments helped him make a killing in
the stock market.
(a) make money quickly
(b) lose money quickly
(c) plan a murder quickly
(d) murder someone quickly

. Choose the correct change in narration:
He said that he was sorry for the fault he had
committed.
(a) He said, “I am sorry for the fault | have
committed.”
(b) He says, “l am sorry for the fault | had
committed.”
(c) He said, “I was sorry for the fault you have
committed.”
(d) He said, “I was sorry for the fault he had
committed.”

. spot the mis-spelt word-
(a) Supporters
(c) Followers

(b) Disecipals
(d) Descendants

. Select the correct verb.
my bath, | went to have a

sleep.

(a) had taken

(c) have taken

(b) took
(d) take

. ldentify the correct preposition.

When | heard of my grandmother’s death, |
burst tears.

(a) at (b) upon

(c) into (d)in

22. Choose the correct word.

(a) Begining
(c) Beginning

(b) Beggining
(d) Biginning

23. ... sick dog died yesterday.

(@) An (b) The

(c) A (d) None of these

24. |dentify the antonym of the given word.
Reprimand’
(a) Praise
(c) Recommend

(b) Encourage
(d) Release

25. Unsullied’
(a) Visible
(c) Stainless

(b) Foul
(d) Strong

MATHS

26. For any two sets A and B, A-(A-B) equals
fdUgha 2 legPp;ksa A rFkk
B ds fvy,
A-(A-B)=
() B (b) A-B
(c)ANnB (d) A° n B€

27.Let U ={1,234,5,,789,10}, A={1,25},B=
{6,7} then AN B is

Ekkuk U = {1,2,3,4,5,6,7,8,9,10}, A=
{125}, B=1{67} rks AnB =

(@ A (b) A
(c) B (d) None of these

28. The solution of the equation
+D+E+HD+@x+7)++ (x+28) =
155 is

fuEu 1leh0O dk gy gksxkA

x+D+x+4D)+x+7)+ -+ (x+28) =155
(@)1 (b) 2
(c) 3 (d) 4

29. If the sum of n term of an AP is given by
S, = 3n + 2n?then the common difference of the
AP is
;fn fdlh 10 Js0O ds n inksa dk
;ksx  S,=3n+2n*gS rks 1koZUrj
gksxkA

(@) 3 (b) 2
(c) 6 (d) 4
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30. If every term of a G.P. with positive terms is the
sum of its two previous terms, then the common
ration of the series is

;In
xq.kksRrj

?kukRed inksa okyh
Js.kkh dk izR;sd
in vius 1igys okys nks inksa
ds ;ksx ds cjkcj gS
lkoZugikr gksxkA

rks

@1
© 5

(b) =
@5

31.If7x—2<4—3xand 3x —1 <2+ 5x,thenx
line in the interval

rFkk 3x-1<2+
esa

;fn 7x—-2<4-3x
5« rks x fuEu

gksxkA

vUrjky

@ (53) ®) (5 5)
3

© (-53) @ [-53]

32. The real roots of the equation x? + 5|x| +4 =0
are

LkehO
gksxk
(@ -1,4
(c) 4,4

x2+5|x|+4=0 dk gy

(b) 1,4
(d) None of these

33.Ifa+ib =c+id, then
;fn a+ib=c+id rks
@a*+c>=0 (b) b2 +c?>=0
(c) b2+d*=0 (d)a? + b? = c? + d?

34. The true statement is
fuEu esa 1ls dkSu 1k dFku
1R; gSA
(@1-1<1+i
(b)2i +1>—-2i+1
(©)2i>1

(d) None of these

35. If tan © = 3 and 0 line in third quadrant, then value
of sin0 is.

;fn tan®=3, 8 r rh; prgZFkka’k
esa gS rks sind dk eku gksxkA

(@) 75 (b) — 7=
(©) (d) 7

2T 2230 25T o 27T
36. sin®< + sin® — + sin® —+ sin® = =
(@)1 (b) -1
(c) 0 (d)2

37.1f tan O + sin® = m and tan 6 — sin® = n, then
;fn tan®+sin@=mrFkk tan® —sinB =n,
rks

(a) m? —n? = 4mn

(b) m? + n? = 4mn

(c) m®> —n? =m? +n?

(d) m? —n? = 4ymn

(y+2)?
4

K (x+1)?

38. If the equation + =1 represents a

circle, then K=

2 2
;fn leh0 K(x;” +(y:2) =1 ,d o Rr

fu:fir djrk gS rks K=
(@ 34 (b) 1
) 43 (d) 12

39.The centre of a circle is (2,-3) and the
circumference is 10. Then equation of the circle
is
fdlh o Rr dk dsUnz
ifjo Rr dh f=T;k 10n gS
o Rr dk lehdj.k gksxkA
@x*+y*+4x+6y+12=0
() x*?+y2—4x+6y+12=0
©)x?2+y?2—4x+6y—12=0
(d) x> +y?—4x—6y—12=0

rFkk
rks
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guadrant

ijoy; dk ‘kh”kZz
prZzgkFkk’ka esa gksxkA
(@) First (izFke flrh;
prg; 2)

(b) Second (£} rh; )

(c) Third (r "rh; )

(d) Fourth *aprgF'kZ*s

40. Vertex of the parabola y2 + 2y + x = 0 lies in the

45,
fdl

r rh;

46.

. This distance between the foci of a hyperbola is
16 and its eccentricity isv/2, its equation is

,d vfrijoy; dh

ukfHk; ksa

ds chp dh nwjh 16 gS rFkk

mRZsUnzrk

virijoy;

(@) x2 —y%2 =32
x2 y? _

b -5=1

(c) 2x2—-3y%2=7

V2,

gs
dk lehdj.k gksxkA

rks

lim (2x—3)"1 =
X2l ox24x-3

(a) -1/10
(c) -118

(b) 1/10
(c) None of these

xwhen0 <x <1/2
Fx) = 1,whenx = 1/2,then,
1—x,when%<x<1

(@) limy /2. () = 2
(b) limy,y /5 f(x) =2
(c) f(x)is continuous at x = 1/2

f(x)x=1/217] larr
(d)f (x)is discontinuous at x = 1/2

f(x)x=1/21] vlarr

. The slope of the normal to the curve y3 —

(d) None of these (buesa 1s dksbZ

ugha)

.nj(x)=§§§ThenfU(amze)]=
; En f(x)=1;x rks flf(cos28)] =

+x,
(a) tan206
(c) cos26

43.Mapping f: R — R which is defined as

f(x) = cosx,x € R will be
f:R->R tgk;

(b) sec26
(d) cot26

. The slope of the normal to the curve x2 — =

f(x) =cosx,x €ER g5

(a) Neither one-one nor onto (u rks

,dSdh u vkPNknd)
(b) One-one (, dSdh)
(c) Onto (vkPNknd)

(d) One- one onto (, dSdh vkPNknd)

X_S—X

44. The value of lim,._,q ST =
(b) 0
(d)2log 5

(a) log 5
(€1

xy —8 =0 at the point of tangency on the
curve is 4x — 2y — 1 = 0, then the point (0,2)
is equal to

od y3—xy—8=0
fcUng(0,2)17] viHkYkEc
izo.krk gksxhA
(a) -3

(c) 3

ds
dh

(b)-6
(d) 6

x2
at
(-1,0) is
> ds (-1,0) 1i7j
viHkyEc dh izo.krk gksxhA

o «x* —xi fcUng

(@)
(c) 4

(b) -3
(d) -4

. Two dice are thrown together. If the number
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Nks ikls ,d 1kFk Qsads x;s (a) HS (b) faem@ragTH
gS ;fn nksuks iklksa 1ij (c) I (d) IREEX
fHkUu &fHkUUk wvad vkrs gS

rks i ks S kus dh gt & it
izkfi k X' k gk ; ’ * & s
izkfidrk D;k gksxhA (a) Guru Govind Singh

@) 5 (b) = (b) Guru Nanak Dev
36 6 (c) Guru Arjun Dev
©) = (d) None of these (d) Guru Teg Bahadur

(a) 7% AMide &g (b) 7% ATefeh &
4 7 .
AfFP(A) :Eand P(ANB) =E,thenP(B/A) is (c)U;WHGiFTaH (d)?l;lﬁé'ﬂw
equal to
;fn P(A) =% rFkk P(ANB)= . Instrument to measure an earthquake.

${ehuleRT AT sl alell T
(a)Lactometer (b) Barometer

54. The last Guru of the Sikhs?

Z,then P(B/A) dk eku gksxkA

(@) 1i0 (b) % (c) Seismograph (d) Hydrometer

(a) I (b) ST

7 17
©3 D20 (c) AR (d) BT83IHIEY

51. Who presides over the meeting of Rajya - Gramy Award is given in which field?

sabha? It WEPR forer &1 & e S @

TSI T ITETETAT hieT HIAT & (a) Music (b) Literature
(a)Prime Minister (b) President (©) Science (d)Medicine
(c)Vice-President (d) Speaker (a) Gl (b) TifeeT
(a) STEITeT FAY (b) Irsgafa (c) Frmmer (d) Rrfrea

(c) 34reTeT (d) 3reTeT
.Who is first Indian women to recive Bharat

52. Simon commission is associated with Ratan?

AISHA FHHAAA FHT Goor fHad g R TooT YT el dloll TUH Afgell

(a)Constitutional and Political System (a) Mother Terisa (b) Indira Gandhi
(b) Sati Pratha (c) Sarojini Naidu (d) Bachindra Rai

(c) Improvement in Economic System (a) FAGT @ (b) eI amedt

Egi H.i? heﬁr Ed;cftion : i (c) TRAFSI=A g () Ifig T

(b) FAT g7 . Kangana Ranauat has won National Awards

3T gormel & IR how many times?
((Z))mf%\rm ; HITAT UM o fhcell IR ISET REPR

Sird

53. Biggest natural harbor on western coast off (@)1 (b) 2
India is? (c)3 (d) 4

R & URTAT dc W &Ud |ed 37 . .
) . Where is silicon valley in India?

. _ HRT &1 faforepia dor &gl g &
(a)Mumbai (b) Visakhapattnam (a)Delhi (b) Mysore

(c)Kochhi (d) Porbandar (c) Hyderabad (d) Bengaluru
PACGE NO. ©




(a) ool (b) HE
OFEEIC) (d) ST

60. The earliest extant Buddhist Stupa comes

from?

g FqU & IRTAS HT JAOT el [Held 8
(a) Sanchi (b) Sarnath
(c) Bodh Gaya (d) Amaravathi

(a) | (b) FRATY
(c) STErETAm (d) 3FRTEdY

. At which place Gautama Buddha delivered
his first sermon?

e TUTT R HEICAT g A TUH 33U
fear ar

(a)Sarnath (b) Lumbini
(c) Bodh Gaya (d) Vaishali

(a) ARATY (b) fFSY
(c) SreT 1T (d) JeMelr

. Which members in the Security Council have
been conferred upon the veto power.

TG W T Fiel ¥ Feegdiel AfFd gRoT
A B

(a)China, Russia (b) America, Britain
(c) France (d) All the above

(@) I, &7 (b) 3R, forest
(c) S (d) 3T Tl

. How many times the President of India can
seek re-election to his post?

HRA FRregufdde & fov fFde IR ger:

IoATd 5 Tehell &

(a)Once (b) Twice

(c) Thrice (d) Any number of time
(a) T I (b) ar IR

(c) A TR (d) TordT 8Tt THT

. The Mid-Day Meal Scheme has been
launched by the Union Minister of

Az 3 Aiar AT e gfaae @A &
AT & HT ST §

(a)Home affairs

(b)Social welfare

(c) Human Resource Development
(d) Rural Development

(a) 81H 3ThaIH

(b) TSR FHedToT
(c) HATTT HHTET Taehr
(d) TrHAT faemra

65. Black money is.

FTeIT UeT FAT §

(a)Income on which payment of tax is
usually Evaded

(b) lllegally earned money

(c) Money earned through underhand deals
(d) Counterfeit currency

(a) 31T ToIE TR T AT $ITCATeT AR T BT
¢ o fear

(b) 373 &7 & 37foiT &t

(c) 375YEs Glat & ATeas & foia aa

(d) Sirelt T

66. When were the Fundamental Duties

incorporated in the constitution?
AR TIAETeT # Hol whcled oa AMAA
fhT 1T

(2)1976 (b) 1975
(c) 1977 (d) 1979

67. Sports Authority of India was established in

Fqﬁaﬁﬁfra‘fcsg%maﬁrmmaﬁgé

(a)1984 (b) 1958
(c) 1986 (d) 1961

68. Who composed the following song “Sare

Jahan Se Achaa’?

IR g7 ¥ 3o T & Jus g
(a) Jaidev
(b) Mohammed Igbal

(c) Rabindernath Tagore
(d) Bakim Chandra Chattopadhya

(a) ST (b) AGFHG, ShaTd
(c) THIGeATY &AM (d) sfrsT T Tgar

69. The two highest gallantry awards in India are
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g Hafed dRar @™ e REwR &
(a)Param Vir chakra and Maha Vir Chakra

(b) Param Vir Chakra and Maha Vir Chakra

(c) Ashok Chakra and Maha Vir Chakra
(d) Param Vir Chakra and Ashok Chakra

(a) IH 4R Tsh IR AGT AR Ish
(b) A AR Tsh IR AGT AR Tsh
(c) 312N Teh 3R AGIAR Tsh
(d) IRHAAR Tk 3R 372N Tk

70. Which one of the following is the dance
drama?

i@ # 4 &l &1 T ey o7 §

(b) Bharatnatyam
(d) Manipuri

(b) #RAATTIH
(d) AOTL

(a)Kathakali
(c) Odissi

71. The 21 Commonwealth Games 2018 was

be held in.
21 O TUSgHSS Wol 2018 T TAIoTd gl
fopar arar

(a)Melbourne Australia
(b) Manchester, UK
(c) Gold Cost Australia
(d) London, England

(a) AerdleT e o

(b) HATAET, Teh

(c) IMes iee JTeeforr
(d) ¥ieaT, 7ol

72. The famous ellora caves are situated in

9flig TR THTE Tt Feud §
(a)Madhya Pradesh (b) Maharashtra
(c) Rajasthan (d) Chhattishgarh
(a) FET TS2m (b) HERTSE
(c) TSTEATT (d) BedEag

73. Indian Army’s main battle tank is

HRAT HeTT T HET b &b ©
(a)Angara (b) Bheem
(c) Arjun (d) Bofors
(a) 3T9TRT (b) 8

(c) 391 (d) ST

74. Which of the following do not have common
boundary with Bangladesh?

frafaf@a & ¥ FiT SN & a1y qraAr
IS AET HIar

(a) Meghalaya (b) Tripura

(c) Mizoram (d)Arunachal Pradesh

(a) FETIT (b) Frgar
(c) fASiR# (d) 3TEUTTIST Je2r

75. Which River in the world carries the
maximum volume of water:

gferar & @l @ 7 FAF el aRoT
Xl g

(a)Amazon (b) Nile

(c) Missisippi-Missouri  (d) None of these

(a) 3THSTT (b) =TT
() FARRRAG-AEd (d) STH T FIS TeY

76. In the following question, select the odd word
from the given alternatives.

Arfaf@a g & feu a1v faweat & & fave ose
I gfAT|

(a) Beneath (b) On top

(c) Huge (d) Above

77. In the following question, select the related
number from the given alternatives.
56:41::94:7
farAforfaa geat # feu a1v Aeredl # & @afta
T A AT
56:41::94:7
(2)49 (b)53
(c)60 (d) 89

78. In the following question, select the related letter
from the given alternatives.
DE:O::AF:?

Aafaf@a gea & R a1t fasreut &7 & T
3eR I AT
DE:O::AF:?

(@) H
(c))
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79. In the following question, select the related

word from the given alternatives.
Goiter : lodine : : Anemia: ?

Arafaf@ad vea & fow arv fFreal & @ gafdaT ereg
& gfAT|
0ET ;3SR ?

(a) Vitamin D (b)Iron
IERIGGED dig

(c) Vitamin E (d)Calcium
faf@as Fiord

. If3#4%8=6and 9% 4 #3 =12, then
12% 6#24="7
g 3#4%8=6TU9%4#3=12 @, ar
12%6#24="7
(a)4 (b) 3
(c)5 (d) 6

. In the following question, correct the equation
by interchanging two signs.
4x3-6+2+7=8
AT 99T &, fhegr &Y rforcha Gfshanait st
3MIH H RER TGl ST T FHIRIOT Sl Hel

ST
4x3-6+2+7=8
(a)-and + (b) x and -
(c) + and x (d) x and +

. In a certain code language, “NIGHT” is written as
“ODDGM” and “DARK” is written as “GOYC”. How
is “GREEN” written in that code language?

s TafIse g {91 &, “NIGHT” I “ODDGM”
foIET ST § AT “DARK” &l “GoYC” for@r Sirar
&1 3T P 99T H “GREEN” T fhT YR for@r
ST

(a) IABPF (b) MCBNB
(c) OGHVL (d) FPBAI

83. In the following question, from the given

alternative words, select the word which cannot
be formed using the letters of the given word.
Herringbone

PACGE NC. 9

few It oA #, fAeAfai@d Aeeai A T ag
Areg; AT Y feT 1T ree; & 31&RT 1 AT

leh 8T SIIT ST HhaT & |

Herringbone
(a) Biner (b) None
(c) Bane (d) Hinge

. Nine years later, age of B will be equal to the

present age of A. Sum of A’s age 3 years later and
B’s age 4 years ago is 76. If Cis half of the present
age of B, then what will be C’s age (in years) after
10 years?

=il I 91, B T 3T A T TAHAT 3T oh SR
BN | AhT 3 I afTe; T 3T 7T B T 4 a9 Ug el
<Y 31T T AT 76 §1 TS C, B T ATHTA 311G
3T g, d 10 Y 16 € 3T 3T (@t H) F2Ar
gram?

(a)32 (b) 36
(c) 27 (d) 31

. P and Q are brothers. P is the father of S. R is the

only son of Q and is married to U. How is U
related to S?

PAATQ #TS §1 P,S T AT R,Q T AT TH
gduTag U faarfiga &1 v, s & Fa 9
R
(a)Sister —in - law (b) Mother —in — law
arafr |
(c)Sister (d) Mother
R aAr

. In the following question, select the missing

number from the given series.
6,9, 15, 24, 39,63, ?

frfaf@d wear # few arv fAsvedt & & e
37 AT Fifaw]
6,9, 15, 24, 39, 63, ?
(a) 97 (b) 115
(c) 102 (d) 124

. A series is given with one term missing. Select the

correct alternative from the given ones that will
Complete the series.
QI PI OI NI ?




Tk 3feTsha T 31T &, FoIe & T v o &
few 1w fashedt & @ o @er fasheq gfaw, S
3TeTshe Y T |
Q,P,O,N,?
(a)m (b) L
(c)O (d)J

88. In the following question, select the odd letters
from the given alternatives.

AT 92T & U 70 Aehedl § & fAwe
yaﬂﬁafrgﬁtrl
(a) FUGT (b) KPLO
(c) DWEV (d) CWDX

89. Arrange the given words in the sequence in
hey occur in the
dictionary.
1. Pragmatic
2. Protect
3. Pastel
4. Postal
5. Pebble
fAFafaf@d ersch 1 ersganter A 31 Tl A &
1A ford |
1. Pragmatic
2. Protect
3. Pastel
4. Postal
5. Pebble
(a) 43521
(c) 34512

(b) 35412
(d) 43512

90. In the following question, select the odd
number pair from the given alternatives.

Aot weaT & o 71w et & & Awor
&A1 7 H T AT
(a) 11-120
(c) 21-442

(b) 17-290
(d) 12-145

91. In the following question, select the odd word
pair from the given alternatives.

AT 9ot # 6T a1v fashedt # & fawA

IA & JfAT|

(a) Error : Accurate
ITelcil: 3T

(c) Strength : Lethargy

(b)Careless : Casual
3T TIRATg
(d) Gloomy : Cheerful

goT: gET 3G 3Tellead
92. In the following question, select the related
number from the given alternatives.
5:124::6:7?
AT 9eaT H ST aTv fasredl # @ HafT
HEIT &1 GlT|
5:124::6:7
(a) 215 (b) 216
(c) 217 (d) 220

93. In the following question, select the related
letters from the given alternatives.
GLOW : FJNU : : PTEL:?

AT 92 H U 310 dhedl H ¥ GaT9d
H&ﬂﬁaﬁgﬁvl
GLOW : FINU : : PTEL:?
(a) ORFN (b) ORPR
(c) ORID (d) OPNF

94. In the following question, select the related word
from the given alternatives.
Car:Road::Ship:?
fArIforfid veat # few 71w et # & Gafad

g 1 ITAT|
ST WS HHAISTETST: ?

(a) Water (b) Air
(c) Road (d) Both Air & Water

95. In the following question, which one set of letters
when sequentially placed at the gaps in the given
Letter series shall complete it?

a_caab_a _bcaab_a_b_a
AT oot # 3781 T hlet AT Hefg @roll
TUTA I ShAAR TG § &Y IS &R AL I
QT hLaTT?

a_caab_a_bcaab_a_b_a

(a) cbacba

(b) bcacac
(c) acbaca (d) bbacaa

96.1f19+2x2+3=369and23+2x6+ 2 =565,
then
7+3x11+3=7

PACGE NO. 10




Ifg19+2x2+3=369TAT23 +2 x6+2 =565
g, dr

7+3x11+3="?
(a) 1674 (b) 1382
(c) 1268 (d) 1496

97. In the following question, select the missing
number from the given series.
28, 30, 36, 48, ?, 98, 140

fAFafaf@d ueat A few arv fashedt & @ oed
3 AT HIfAT|
28, 30, 36, 48, ?, 98, 140
(a) 68 (b) 65
(c) 72 (d) 67

98. Arrange the given words in the sequence in
which they occur in the dictionary.
1. Clam
2. Cloud
3. Cable
4. Cannal
5. Capricon

fAFATI & 2recT I erecahIer A 31T aTel A
& 3O o |
. Clamp
. Cloud
. Cable
. Cannal
5. Capricon
(a) 35412 (b) 34512
(c)43512 (d) 45312

99. In the following question, select the odd number
pair from the given alternatives.

farafaf@da veat # feu arv Aot # & fawa
&A1 A I AT
(a) 1444 -37 (b) 2809 - 54
(c) 2209 - 46 (d) 6084-77
100. In the following question, select the odd
letters from the given alternatives.

AT 92T & U 70 ahedl 7 & fAwe
yaﬂﬁafrgﬁtrl
(a) IMOR (b) ORIL
(c) UXCF (d) ADWZ
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